

Addition de Nombres Entiers (I)

Utilisez la stratégie d'un nombre entier pour trouver chaque question.

$$(-29) + (-26) =$$

$$(+44) + (-80) =$$

$$(-67) + (-63) =$$

$$(+12) + (+61) =$$

$$(-77) + (+2) =$$

$$(+25) + (+76) =$$

$$(+99) + (-74) =$$

$$(-14) + (+49) =$$

$$(-56) + (-4) =$$

$$(-35) + (-54) =$$

$$(-39) + (-46) =$$

$$(-9) + (+69) =$$

$$(-4) + (-62) =$$

$$(+71) + (-46) =$$

$$(+79) + (+82) =$$

$$(+41) + (-85) =$$

$$(-85) + (+95) =$$

$$(-92) + (-35) =$$

$$(+67) + (+52) =$$

$$(+49) + (-90) =$$

$$(+44) + (-67) =$$

$$(-81) + (-15) =$$

$$(+63) + (-54) =$$

$$(-25) + (-70) =$$

$$(+72) + (+52) =$$

$$(+6) + (-56) =$$

$$(+4) + (+78) =$$

$$(+78) + (+69) =$$

$$(-68) + (-93) =$$

$$(+82) + (+67) =$$